
「７３３ 

                             組  番 名前               

 

１ 次の連立方程式を解きなさい。 

①  
3𝑥 + 𝑦
𝑥 − 6𝑦

=
=

5
8
              ②   

4𝑥 − 5𝑦
𝑥 + 𝑦

=
=

26
11

 

 

 

 

 

 

③  
5

2

34

125









yx

yx
            ④  

4

8

65

23









yx

yx
 

 

 

 

 

 

⑤  
10

1

43

32









yx

yx
             ⑥  

𝑥 + 5𝑦
2𝑥 − 𝑦

=
=

8
5
 

 

 

 

 

 

 

⑦  
2

2

53

74









yx

yx
              ⑧  

2

3

37

23









yx

yx
 

 

 

 

 

 

 

 

２ 連立方程式  
𝑎𝑥 + 𝑏𝑦
𝑎𝑥 − 𝑏𝑦

=
=
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 の解が、𝑥 = 2,   𝑦 = −4 のとき、𝑎  , 𝑏  の値をそれぞれ求めなさい。 

 

 

 

 

 

連立方程式（加減法②） 
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